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£ Annette had a 24-karat gold necklace with a mass of 2.3 grams. She sold it for
$123.51. What was the price per gram of her necklace?

£B At maturity, a stalk of corn is 76.56 inches tall. It took 2392.5 hours to reach that
height. What was the rate of growth per hour?
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Zee wants to make 2 liters of pink lemonade for a party. She squeezed the eight
lemons she had and got 0.375 liters of lemon juice. She had 0.35 liters of cranberry
juice, and 1.2 liters of water.

How much lemonade can she make? How much more or less than 2 liters will

she have?
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Maura is going on a plane. She can't have a carry-on backpack that weighs more
than 10 pounds. She weighed the items she wants to pack on a sensitive scale:
book: 5.142 pounds, jacket: 3.6 pounds, backpack: 1.28 pounds. What is the total
weight of these items?
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B Aaron’s family has several gold items they want to melt down to make a gold bar.
There is a spoon that weighs 124.414 grams, a broken necklace that weighs
108.86 grams, and an earring that weighs 15.5 grams. How much is the total weight

of the gold?

B) Nicky is trying to drink 2.5 liters of water a day. She drank 0.878 liters after breakfast,
1.2 liters after lunch, and 0.75 liters before dinner. How much did she drink

all together?
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Walter wanted to compare the great pitcher Walter Johnson’s earned run average
(ERA) to other great pitchers to find out how much lower it was. A lower ERA is
better than a higher ERA. He found these pitchers’ lifetime ERA statistics.

Walter Johnson 2.167
Sandy Koufax 2.76
How much better was Walter Johnson’s ERA than Sandy Koufax's?
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Sandy Koufax had a 0.655 win/loss percentage; Walter Johnson’s was 0.599. How
much higher was Koufax’s win/loss percentage than Johnson's?

B Tyrone needs to take 4.5 milliliters of cough syrup but only has 2.745 milliliters. How
much more does he need for a full dose?
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Alex’s family went on a hike at Mt. Rainier National Park
in Washington.

The Silver Falls Trail is a total of 3.1 miles. They hiked 1.534 miles and
reached Silver Falls. How much farther do they have to hike to
complete the trail?
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Ben wants to buy a baseball cap that costs $24.50. The state sales tax is 8%, or 0.08.
How much will he pay in sales tax?
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Four 6th graders are working on a project. They are going to paint a large banner
and need to protect the floor. They measured the floor, which is 3.05 meters

by 3.658 meters. How many square meters of plastic do they need to cover the
entire floor?
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Madeline studies honeybees. Every week she weighs the same honeybee hive.
The first week the hive weighs 11.607 kilograms. Its weight increases about
0.204 kilograms every week. At this rate, how many kilograms will it increase in

7.5 weeks?
B Your fingernails grow at an average rate of 2.25 inches per year. If they grew at an
average rate, you never cut them, and they did not break, how much would your

fingernails grow in 4.5 years?
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Olympic National Park is 28.5 miles from Forks, Washington. It took the Pearce
family 0.75 hours to drive there. What was their average speed, in miles per hour?
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B At a craft fair, Emily made $52.50 selling paper flowers. If she sold the flowers for

$0.75 each, how many paper flowers did she sell?

B Every day Marco puts $0.25 into a jar for savings. One day he counted his money and

found he had $91.75. How many days had he been saving?
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The average walking speed is 3.4 miles per hour. How many hours would it take to
walk from Boston to Seattle, a distance of 3,020.22 miles?




